* Etamp\L T’;M\-‘Q« e ___.ﬁm.-l&*_ln‘l'ﬁé)ral o‘F

/
N+l f?’* .é/_-——— [$ Lo

SHeps -
7,* = ) AL | +>%ce+p=nm+-
7)‘/\
2) Dwide HJ— frnchion by Fhe r22 epontnt:

3‘/~
2

3) pefis if roedeX:
7;31 & The top 2ndt bobdun B's
/’6 v o aLM' \

Bl ﬁ,sx,u%/«. A Alsy S agL +C

for inde Aite ,ﬂ“jr,;g.
. - | R i » [a
h D—————?\:‘EEQ_‘,-—Q: B A & \ £{Q+)

) 2
E? a\_’/o g

1§5¥6’5

D) HM | 4o Mee Q_fg___..
ol /-nHOﬂE AL N~ e Or\\v‘ &
b + \ ﬁﬁ“"/\ Marbe,s Al W o jes+
ARR  an o Retb po Head

NMAnbR7 o et S o S
) DIl Yhe Hon by Yhe oo gygomant: 3 Bt

1
,7:/%)5 av
o \

3) in AR ke alS cndl solue:

f(b) - 1’(4>  Note: AIWAYS P’»\)) ™S

a, 2 T —
¢ = o)
4 =U ﬁ (W ¥ [( J He valve ofF b
% Ja fi % Rrsr anL e

fB:}b : = [ﬁ, .\.g:k -LO’(’O—) P""’_)3~ & .
v

2=b | - (%+%] -[°]

f
by
!




